


o
™
olJ
He
X
ol
i

ld

ol
N

™ b=

ol
op

AlQ.

ol
L__o

3

< 2= A




7%X5

7><D

5% 2
7 X2







SAQ.

T

= A







=z Mo e,




@ 3 3 4 @ 6 ® 8

@D 2



2o pehfe g

ojmf FRE

FotA 2



S el o 238 78140,



2 u=27]

off o

E
o}

A 7]

11. =<

Y7k

on

ld
)

T



o TR

=

ﬂl BEE
™
w3

LF
| T
o o TIH
o] L.E
oy N o
o g

8712,31




13.

B A2 AAL.

H7

13, 36, 12, 26, 90, 72, 108

=
=%

=
=%



(55)




(& 1)
127 12

(3 3)




5 7) (45 42)
7’7 H 777

6" 9 54° 54

11) <28 33)
1y (28 33
16 18’ 18
7) (10 7)
- 1— 3
315) 7 Uis 315
4 35 8)
35)*(2@’ D)

2) (21 50)
s 5 - e e
3 75 75

5=

[\V]

© ® © ® ©
/‘\/\c\/\/\
ol otwl o

DN
)

filo




5 850 2712 Hliste] > =, <& AA LrERALL.

o
O
o] W




18. Al

dr
ol
@

|

N
fol
ﬂllﬂl
§3
>
lo

g ©
il AL

v
I

© 1% ® 1_2 o] 27]% wate] 2 AR Aol



al!

19. o5 FolA 27171 o



20.

oA d7A & A=l gkm olaL, Ho A A=A o] A=l

Skan AT FAIF $AF F A B ke 2L ol AU

5 ER
=%



i

23
25

— |00

o<t



2 UEALL.

4
4

i

<
g

oln

24
25




3 0.5

@ 0.4

3 0.25

® 0.24

@D 0.12



7)o

— O

— | <

— |

— |



4
5

0.70




